## Goals for today

Line integrals

## Evaluate $\int_C 4x^3 ds$ where

- (1) C is the curve starting at (-2, -1) and going straight to (0, -1), then going up to (1, 0) along the graph of  $y = x^3 1$  and then going straight up to (1, 2).
- (2) C is the straight line from (-2, -1) to (1, 2).

$$\int_{C} 4x^{3} ds = \int_{C_{1}} 4x^{3} ds + \int_{C_{2}} 4x^{3} ds + \int_{C_{3}} 4x^{3} ds$$

- $C_1$  is the line from (-2, -1) to (0, -1) or  $\vec{r}(t) = \langle t, -1 \rangle, -2 \leq t \leq 0.$
- $C_2$  is the graph of  $y = x^3 1$  from (0, -1) to (1, 0) or  $\vec{r}(t) = \langle t, t^3 1 \rangle, 0 \leq t \leq 1.$
- $C_3$  is the line from (1,0) to (1,2) or  $\vec{r}(t) = \langle 1, t \rangle, 0 \leq t \leq 2.$

$$\int_{C} 4x^{3} ds = \int_{C_{1}} 4x^{3} ds + \int_{C_{2}} 4x^{3} ds + \int_{C_{3}} 4x^{3} ds$$

- (1)  $C_1$  is the line from (-2, -1) to (0, -1) or  $\vec{r}(t) = \langle t, -1 \rangle, -2 \leq t \leq 0.$
- (2)  $C_2$  is the graph of  $y = x^3 1$  from (0, -1) to (1, 0) or  $\vec{r}(t) = \langle t, t^3 - 1 \rangle, 0 \leq t \leq 1.$
- (3)  $C_3$  is the line from (1,0) to (1,2) or  $\vec{r}(t) = \langle 1,t \rangle, 0 \leq t \leq 2.$

(1) 
$$\vec{r}'(t) = \langle 1, 0 \rangle; |\vec{r}'(t)| = 1.$$
  
(2)  $\vec{r}'(t) = \langle 1, 3t^2 \rangle; |\vec{r}'(t)| = \sqrt{1 + 9t^4}.$   
(3)  $\vec{r}'(t) = \langle 0, 1 \rangle; |\vec{r}'(t)| = 1.$ 

(1) 
$$4x^3 = 4t^3$$
.  
(2)  $4x^3 = 4t^3$ .  
(3)  $4x^3 = 4$ .

$$\int_{C} 4x^{3} ds = \int_{C_{1}} 4x^{3} ds + \int_{C_{2}} 4x^{3} ds + \int_{C_{3}} 4x^{3} ds$$
(1)  $C_{1}$  is the line from  $(-2, -1)$  to  $(0, -1)$  or  
 $\vec{r}(t) = \langle t, -1 \rangle, -2 \leqslant t \leqslant 0.$ 
(2)  $C_{2}$  is the graph of  $y = x^{3} - 1$  from  $(0, -1)$  to  $(1, 0)$  or  
 $\vec{r}(t) = \langle t, t^{3} - 1 \rangle, 0 \leqslant t \leqslant 1.$ 
(3)  $C_{3}$  is the line from  $(1, 0)$  to  $(1, 2)$  or  
 $\vec{r}(t) = \langle 1, t \rangle, 0 \leqslant t \leqslant 2.$ 
(1)  $\int_{C_{1}} 4x^{3} ds = \int_{-2}^{0} 4t^{3} \cdot 1 dt.$   
(2)  $\int_{C_{2}} 4x^{3} ds = \int_{0}^{1} 4t^{3} \cdot \sqrt{1 + 9t^{2}} dt.$   
(3)  $\int_{C_{3}} 4x^{3} ds = \int_{0}^{2} 4 \cdot 1 dt.$ 

Evaluate  $\int_C 4x^3 ds$  where C is the straight line from (-2, -1) to (1, 2).

$$\vec{r}(t) = (1-t)\langle -2, -1 \rangle + t\langle 1, 2 \rangle = \langle -2 + 3t, -1 + 3t \rangle$$
$$0 \le t \le 1$$

Evaluate  $\int_C 4x^3 ds$  where C is the straight line from (-2, -1)to (1, 2).  $\vec{r}(t) = (1-t)\langle -2, -1 \rangle + t \langle 1, 2 \rangle = \langle -2 + 3t, -1 + 3t \rangle$  $0 \leq t \leq 1$  $\vec{r}'(t) = \langle 3, 3 \rangle \quad |\vec{r}'(t)| = \sqrt{9+9} = 3\sqrt{2}$  $4x^3 = 4(-2+3t)^3$  $\int_C 4x^3 ds = \int_0^1 4(-2+3t)^3 3\sqrt{2} dt$ 

$$\int_C \left\langle \sin(\pi y), yx^2 \right\rangle d\vec{r}$$

along the line segment from (0, 2) to (1, 4).

Equivalently evaluate

$$\int_C \sin(\pi y) dx + y x^2 dy$$

along the same line segment.

Evaluate

$$\int_C \left\langle \sin(\pi y), yx^2 \right\rangle d\vec{r}$$

along the line segment from (1, 1) to (0, 2).

Equivalently evaluate

$$\int_C \sin(\pi y) dx + y x^2 dy$$

along the same line segment.

$$\int_C \left< \sin(\pi y), yx^2 \right> d\vec{r}$$

along the line segment from (0,2) to (1,4).

Equivalently evaluate

$$\int_C \sin(\pi y) dx + y x^2 dy$$

along the same line segment.

 $C \text{ is } \vec{r_1}(t) = (1-t)\langle 0, 1 \rangle + t\langle 1, 4 \rangle = \langle t, 1+3t \rangle, 0 \leq t \leq 1.$ 

$$\int_C \left\langle \sin(\pi y), yx^2 \right\rangle d\vec{r}$$

along the line segment from (0, 2) to (1, 4).

 $C \text{ is } \vec{r_1}(t) = (1-t)\langle 0, 1 \rangle + t\langle 1, 4 \rangle = \langle t, 1+3t \rangle, 0 \leq t \leq 1.$ 

$$d\vec{r} = \left< 1, 3 \right> dt$$

$$\vec{F}(t) = \left\langle \sin(\pi(1+3t)), (1+3t)x^2 \right\rangle$$

$$\int_C \left\langle \sin(\pi y), yx^2 \right\rangle d\vec{r} = \int_0^1 \left\langle \sin(\pi(1+3t)), (1+3t)x^2 \right\rangle \cdot \left\langle 1, 3 \right\rangle dt$$

 $\int_C \left< \sin(\pi y), y x^2 \right> d\vec{r}$ 

along the line segment from (1, 1) to (0, 2).

Equivalently evaluate

$$\int_C \sin(\pi y) dx + y x^2 dy$$

along the same line segment.

C is  $\vec{r}_2(t) = (1-t)\langle 1,4\rangle\langle 0,1\rangle + t\langle 0,1\rangle = \langle 1-t,4-3t\rangle.$ 

Note that the interval is [a, b] = [0, 1] and  $\vec{r}_2(t) = \vec{r}_1(a + b - t)$ 

along the line segment from 
$$(1,0)$$
 to  $(0,1)$  to  $(-1,0)$ .

Evaluate

$$\int_C \langle y, x \rangle \cdot d\vec{r}$$

along the line segment from (1,0) to (-1,0).

$$\int_C \langle y, x \rangle \cdot d\vec{r}$$

along the line segment from (1,0) to (0,1) to (-1,0).

$$\int_{C} \langle y, x \rangle d\vec{r} = \int_{C_1} \langle y, x \rangle d\vec{r} + \int_{C_2} \langle y, x \rangle d\vec{r}$$

•  $C_1$  is  $\vec{r}(t) = \langle 1 - t, t \rangle; d\vec{r}(t) = \langle -1, 1 \rangle dt, 0 \leq t \leq 1.$ 

• 
$$C_2$$
 is  $\vec{r}(t) = \langle -t, 1-t \rangle; d\vec{r}(t) = \langle -1, -1 \rangle dt, 0 \leq t \leq 1.$ 

• 
$$\int_{0}^{1} \langle t, 1-t \rangle \cdot \langle -1, 1 \rangle dt.$$
  
• 
$$\int_{0}^{1} \langle 1-t, -t \rangle \cdot \langle -1, -1 \rangle dt.$$

Evaluate

$$\int_C \langle y, x \rangle \cdot d\vec{r}$$

along the line segment from (1,0) to (-1,0).

$$C \text{ is } \vec{r}(t) = \langle 1 - 2t, 0 \rangle; \, d\vec{r}(t) = \langle -2, 0 \rangle \, dt, \, 0 \leqslant t \leqslant 1.$$
$$\int_0^1 \langle 1 - 2t, 0 \rangle \cdot \langle -2, 0 \rangle \, dt$$

$$\int_C x dx + y dy + u du$$
  
along the curve  $x = t^2, y = t^3, u = t$  for  $-1 \le t \le 2$ .

$$\int_C x dx + y dy + u du$$
  
along the curve  $x = t^2, y = t^3, u = t$  for  $-1 \le t \le 2$ .

$$\int_C \langle x, y, z \rangle \cdot d\vec{r}$$

$$d\vec{r} = \left\langle 2t, 3t^2, 1 \right\rangle dt$$

$$\int_{C} \langle x, y, z \rangle \cdot d\vec{r} = \int_{-1}^{2} \langle t^2, t^3, t \rangle \cdot \langle 2t, 3t^2, 1 \rangle dt$$

$$\int_C x dx + y dy + u du$$
 along the curve  $x = t^2$ ,  $y = t^3$ ,  $u = t$  for  $-1 \le t \le 2$ .

- dx = 2tdt
- $dy = 3t^2 dt$
- du = dt

$$\int_C x dx + y dy + u du = \int_{-1}^2 t^2 \cdot 2t dt + \int_{-1}^2 t^3 \cdot 3t^2 dt + \int_{-1}^2 t \cdot 1 dt$$